## Czechoslovak Mathematical Journal

Jing Guo; Xiaoxue Li
On the $k$-polygonal numbers and the mean value of Dedekind sums

Czechoslovak Mathematical Journal, Vol. 66 (2016), No. 2, 409-415

Persistent URL: http://dml.cz/dmlcz/145732

## Terms of use:

© Institute of Mathematics AS CR, 2016

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This document has been digitized, optimized for electronic delivery and
stamped with digital signature within the project DML-CZ: The Czech Digital
Mathematics Library http://dml.cz

# ON THE $k$-POLYGONAL NUMBERS AND THE MEAN VALUE OF DEDEKIND SUMS 

Jing Guo, Nanchang, Xiaoxue Li, Xi'an

(Received May 12, 2015)


#### Abstract

For any positive integer $k \geqslant 3$, it is easy to prove that the $k$-polygonal numbers are $a_{n}(k)=(2 n+n(n-1)(k-2)) / 2$. The main purpose of this paper is, using the properties of Gauss sums and Dedekind sums, the mean square value theorem of Dirichlet $L$-functions and the analytic methods, to study the computational problem of one kind mean value of Dedekind sums $S\left(a_{n}(k) \bar{a}_{m}(k), p\right)$ for $k$-polygonal numbers with $1 \leqslant m, n \leqslant p-1$, and give an interesting computational formula for it.


Keywords: Dedekind sums; mean value; computational problem; $k$-polygonal number; analytic method

MSC 2010: 11L05, 11L10

## 1. Introduction

It is well known that Pythagoreans linked numbers with geometry. Pythagoras introduced the idea of polygonal numbers: triangular numbers, square numbers, pentagonal numbers, etc. The reason for this geometrical nomenclature is clear when the numbers are represented by dots arranged in the form of triangles, squares, pentagons, etc., as shown in following figure.

For any positive integer $k \geqslant 3$, it is easy to prove that the $k$-polygonal numbers are $a_{n}(k)=(2 n+n(n-1)(k-2)) / 2$. For example, $a_{1}(3)=1, a_{2}(3)=3, a_{3}(3)=6$, $a_{4}(3)=10, a_{5}(3)=15, a_{6}(3)=21, a_{7}(3)=28, \ldots$ are the triangular numbers. $a_{1}(5)=1, a_{2}(5)=5, a_{3}(5)=12, a_{4}(5)=22, a_{5}(5)=35, a_{6}(5)=51, a_{7}(5)=70, \ldots$ are the pentagonal numbers.

This work is supported by N. S. F. (11371291) of P. R. China and G. I. C. F. (YZZ15009) of Northwest University.


In this paper, we use the analytic methods and the properties of Gauss sums to study the mean value properties of Dedekind sums on the sequence $\left\{a_{n}(k)\right\}$, and give an exact computational formula for it. For convenience, we first introduce the definition of Dedekind sums:

Let $q$ be a natural number and $h$ an integer prime to $q$. The classical Dedekind sums

$$
S(h, q)=\sum_{a=1}^{q}\left(\left(\frac{a}{q}\right)\right)\left(\left(\frac{a h}{q}\right)\right),
$$

where

$$
((x))= \begin{cases}x-[x]-\frac{1}{2}, & \text { if } x \text { is not an integer; } \\ 0, & \text { if } x \text { is an integer }\end{cases}
$$

describe the behaviour of the logarithm of the eta-function (see [7], [8]) under modular transformations. Many authors have studied the arithmetical properties of $S(h, q)$, and obtained many interesting results, some of which can be found in [2]-[11]. Perhaps the most famous property of Dedekind sums is the reciprocity formula (see references [2], [3], [6] and [7]):

$$
\begin{equation*}
S(h, k)+S(k, h)=\frac{h^{2}+k^{2}+1}{12 h k}-\frac{1}{4} \tag{1}
\end{equation*}
$$

for all $(h, k)=1, h>0$ and $k>0$.
An interesting three term version of (1) was also discovered by Rademacher and Grosswald [8].

The main purpose of this paper is to consider the computational problem of the mean value of Dedekind sums

$$
\begin{equation*}
\sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right) \tag{2}
\end{equation*}
$$

where $a_{m}(k) \bar{a}_{m}(k) \equiv 1 \bmod p$, providing $\bar{a}_{n}(k)=0$, if $p \mid a_{n}(k)$. Here $k \geqslant 3$ is a fixed integer, and $p$ is an odd prime.

We will use the analytic method and the properties of Gauss sums to give an exact computational formula for (2). That is, we shall prove the following:

Theorem. Let $p$ be an odd prime. Then for any fixed integer $k \geqslant 3$ we have the computational formula

$$
\begin{aligned}
& \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right) \\
& \quad= \begin{cases}0, & \text { if } p \mid k-2 \\
0, & \text { if } p \mid k-4 \text { and } p \equiv 1 \bmod 4 \\
(p-1) h_{p}^{2}, & \text { if } p \mid k-4 \text { and } p \equiv 3 \bmod 4 ; \\
\frac{(p-1)(p-2)}{12}-\frac{1-(-1)^{(p-1) / 2}}{2} h_{p}^{2}, & \text { otherwise }\end{cases}
\end{aligned}
$$

where $h_{p}$ denotes the class number of the quadratic field $\mathbb{Q}(\sqrt{-p})$.
For a general integer $q>3$, whether there exists a computational formula similar to that of our theorem is an unsolved problem that we will further study.

## 2. Several lemmas

To complete the proof of our theorem, we need to prove several lemmas. Hereinafter, we shall use some properties of Gauss sums and Dirichlet $L$-functions, all of which can be found in reference [1], so they will not be repeated here.

Lemma 1. Let $q>2$ be an integer. Then for any integer $a$ with $(a, q)=1$ we have the identity

$$
S(a, q)=\frac{1}{\pi^{2} q} \sum_{d \mid q} \frac{d^{2}}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}} \chi(a)|L(1, \chi)|^{2},
$$

where $L(1, \chi)$ denotes the Dirichlet $L$-function corresponding to the character $\chi \bmod d$.

Proof. See Lemma 2 of [10].

Lemma 2. Let $p$ be an odd prime, $\chi$ any primitive character $\chi \bmod p$. Then for any fixed positive integer $k \geqslant 3$ we have the identity

$$
\sum_{n=1}^{p-1} \chi\left(a_{n}(k)\right)= \begin{cases}\frac{\bar{\chi}(2) \tau(\chi)}{\tau(\bar{\chi})} \bar{\chi}(k-2)(p-1), & \text { if } \chi=\chi_{2} \text { and } p \mid k-4 ; \\ \frac{\bar{\chi}(2) \tau(\chi) \tau\left(\bar{\chi}^{2}\right)}{\tau(\bar{\chi})} \bar{\chi}(k-2) \chi^{2}(4-k), & \text { otherwise }\end{cases}
$$

where $\tau(\chi)=\sum_{a=1}^{p-1} \chi(a) e(a / p)$ denotes the classical Gauss sums, $\chi_{2}$ denotes the Legendre symbol and $e(y)=\mathrm{e}^{2 \pi \mathrm{i} y}$.

Proof. For any primitive character $\chi \bmod p$, from the definition of $a_{n}(k)$ and the properties of Gauss sums we have

$$
\begin{align*}
\sum_{n=1}^{p-1} \chi\left(a_{n}(k)\right) & =\sum_{n=1}^{p-1} \chi\left(\frac{1}{2}(2 n+n(n-1)(k-2))\right)  \tag{3}\\
& =\bar{\chi}(2) \sum_{n=1}^{p-1} \chi(n) \chi(2+(n-1)(k-2)) \\
& =\frac{\bar{\chi}(2)}{\tau(\bar{\chi})} \sum_{n=1}^{p-1} \chi(n) \sum_{b=1}^{p-1} \bar{\chi}(b) e\left(\frac{b(2+(n-1)(k-2))}{p}\right) \\
& =\frac{\bar{\chi}(2)}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}(b) e\left(\frac{b(4-k)}{p}\right) \sum_{n=1}^{p-1} \chi(n) e\left(\frac{b(k-2) n}{p}\right) \\
& =\frac{\bar{\chi}(2) \tau(\chi)}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}(b) \bar{\chi}(b(k-2)) e\left(\frac{b(4-k)}{p}\right) .
\end{align*}
$$

If $\chi=\chi_{2}$ is the Legendre symbol and $p \mid k-4$, then from (3) we know that

$$
\begin{equation*}
\sum_{n=1}^{p-1} \chi\left(a_{n}(k)\right)=\frac{\bar{\chi}(2) \tau(\chi)}{\tau(\bar{\chi})} \bar{\chi}(k-2)(p-1) . \tag{4}
\end{equation*}
$$

Otherwise, from (3) we have

$$
\begin{equation*}
\sum_{n=1}^{p-1} \chi\left(a_{n}(k)\right)=\frac{\bar{\chi}(2) \tau(\chi) \tau\left(\bar{\chi}^{2}\right)}{\tau(\bar{\chi})} \bar{\chi}(k-2) \chi^{2}(4-k) \tag{5}
\end{equation*}
$$

Now combining (4) and (5) we complete the proof of Lemma 2.

## 3. Proof of the theorem

In this section, we shall complete the proof of our theorem. First, if $p$ is an odd prime, then from Lemma 1 and the definition of $S(a, p)$ we have

$$
\begin{equation*}
S(a, p)=\frac{1}{\pi^{2}} \frac{p}{p-1} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(a)|L(1, \chi)|^{2} \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
S(1, p)=\sum_{a=1}^{p-1}\left(\frac{a}{p}-\frac{1}{2}\right)^{2}=\frac{(p-1)(p-2)}{12 p} \tag{7}
\end{equation*}
$$

Combining (6) and (7) we can deduce that

$$
\begin{equation*}
\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}}|L(1, \chi)|^{2}=\frac{\pi^{2}}{12} \frac{(p-1)^{2}(p-2)}{p^{2}} . \tag{8}
\end{equation*}
$$

It is clear that if $p \mid k-2$, then from (6) and Lemma 2 we have the identity

$$
\begin{equation*}
\sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right)=0 \tag{9}
\end{equation*}
$$

If $p \mid k-4$ and $p \equiv 1 \bmod 4$, then the Legendre symbol $\chi_{2}$ is not an odd character $\bmod p$. So for any odd character $\chi \bmod p, \chi^{2}$ is not the principal character $\bmod p$. From (6) and Lemma 2 we have the identity

$$
\begin{equation*}
\sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right)=0 . \tag{10}
\end{equation*}
$$

If $p \mid k-4$ and $p \equiv 3 \bmod 4$, then the Legendre symbol $\chi_{2}$ is an odd character $\bmod p$. Note that $|\tau(\chi)|=\sqrt{p}$ if $\chi$ is not the principal character. From (6) and Lemma 2 we have the identity

$$
\begin{align*}
& \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right)  \tag{11}\\
& \quad=\frac{1}{\pi^{2}} \frac{p}{p-1} \sum_{\substack{\chi \bmod p \\
\chi(-1)=-1}} \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} \chi\left(a_{m}(k)\right) \bar{\chi}\left(a_{n}(k)\right)|L(1, \chi)|^{2} \\
& \quad=\frac{1}{\pi^{2}} \frac{p}{p-1}(p-1)^{2}\left|L\left(1, \chi_{2}\right)\right|^{2}=(p-1) h_{p}^{2},
\end{align*}
$$

where we have used the identity $\left|L\left(1, \chi_{2}\right)\right|=h_{p}(\pi / \sqrt{p})$, and $h_{p}$ denotes the class number of the quadratic field $\mathbb{Q}(\sqrt{-p})$.

If $(p, k-2)=(p, k-4)=1$ and $p \equiv 1 \bmod 4$, then from (6), (8) and Lemma 2 we have the identity

$$
\begin{align*}
& \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right)  \tag{12}\\
& \quad=\frac{1}{\pi^{2}} \frac{p}{p-1} \sum_{\substack{\chi \bmod p \\
\chi(-1)=-1}} \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} \chi\left(a_{m}(k)\right) \bar{\chi}\left(a_{n}(k)\right)|L(1, \chi)|^{2} \\
& \quad=\frac{1}{\pi^{2}} \frac{p^{2}}{p-1} \sum_{\substack{\chi \bmod p \\
\chi(-1)=-1}}|L(1, \chi)|^{2}=\frac{(p-1)(p-2)}{12} .
\end{align*}
$$

If $(p, k-2)=(p, k-4)=1$ and $p \equiv 3 \bmod 4$, then note that $\tau\left(\chi_{2}^{2}\right)=-1$, and from (6), (8) and Lemma 2 we have the identity

$$
\begin{align*}
& \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} S\left(a_{n}(k) \bar{a}_{m}(k), p\right)  \tag{13}\\
&=\frac{1}{\pi^{2}} \frac{p}{p-1} \sum_{\substack{\chi \bmod p \\
\chi(-1)=-1}} \sum_{m=1}^{p-1} \sum_{n=1}^{p-1} \chi\left(a_{m}(k)\right) \bar{\chi}\left(a_{n}(k)\right)|L(1, \chi)|^{2} \\
&=\frac{1}{\pi^{2}} \frac{p^{2}}{p-1} \sum_{\substack{\chi \bmod p \\
\chi(-1)=-1 \\
\chi \neq \chi_{2}}}|L(1, \chi)|^{2}+\frac{1}{\pi^{2}} \frac{p}{p-1}\left|L\left(1, \chi_{2}\right)\right|^{2} \\
&=\frac{1}{\pi^{2}} \frac{p^{2}}{p-1} \sum_{\substack{\chi \bmod p \\
\chi(-1)=-1}}|L(1, \chi)|^{2}+\frac{1}{\pi^{2}} \frac{p-p^{2}}{p-1}\left|L\left(1, \chi_{2}\right)\right|^{2} \\
&=\frac{(p-1)(p-2)}{12}-h_{p}^{2} .
\end{align*}
$$

Note that $\left(1-(-1)^{(p-1) / 2}\right) / 2=1$, if $p \equiv 3 \bmod 4$, and $\left(1-(-1)^{(p-1) / 2}\right) / 2=0$, if $p \equiv 1 \bmod 4$. Combining (9)-(13) we immediately complete the proof of our theorem.

Acknowledgement. The authors would like to thank the referees for their very helpful and detailed comments, which have significantly improved the presentation of this paper.

## References

[1] T. M. Apostol: Introduction to Analytic Number Theory. Undergraduate Texts in Mathematics, Springer, New York, 1976.
[2] T. M. Apostol: Modular Functions and Dirichlet Series in Number Theory. Graduate Texts in Mathematics 41, Springer, New York, 1976.
[3] L. Carlitz: The reciprocity theorem for Dedekind sums. Pac. J. Math. 3 (1953), 523-527.
[4] J. B. Conrey, E. Fransen, R. Klein, C. Scott: Mean values of Dedekind sums. J. Number Theory 56 (1996), Article No. 0014, 214-226.
[5] C. Jia: On the mean value of Dedekind sums. J. Number Theory 87 (2001), 173-188.
[6] L. J. Mordell: The reciprocity formula for Dedekind sums. Am. J. Math. 73 (1951), 593-598.
[7] H. Rademacher: On the transformation of $\log \eta(\tau)$. J. Indian Math. Soc., New Ser. 19 (1955), 25-30.
[8] H. Rademacher, E. Grosswald: Dedekind Sums. The Carus Mathematical Monographs 16, The Mathematical Association of America, Washington, 1972.
[9] W. Zhang: A note on the mean square value of the Dedekind sums. Acta Math. Hung. 86 (2000), 275-289.
[10] W. Zhang: On the mean values of Dedekind sums. J. Théor. Nombres Bordx. 8 (1996), 429-442.
[11] W. Zhang, Y. Liu: A hybrid mean value related to the Dedekind sums and Kloosterman sums. Sci. China, Math. 53 (2010), 2543-2550.

Authors' addresses: Jing Guo, College of Mathematics and Computer Science, Jiangxi Science and Technology Normal University, No. 589 Hongjiaozhou Avenue, Nanchang, Jiangxi, 330038, P. R. China, e-mail: 651077099@qq.com; Xia oxue Li, School of Mathematics, Northwest University, No. 1 Xuefu Street, Xi'an, Shaanxi, 710127, P. R. China, e-mail: lxx20072012@163.com.

